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1. Which of the following pairs are correctly
matched?
Tripitaka Theme
1. Vinayapitaka - Buddhist philosophy
2. Suttapitaka - Teachings of the Buddha
3. Abhidhammapitaka - Collection of rules
Select the correct answer using the codes
given below:
(a) 1and 2 only
(b) 1 only

(c) 2 only
(d)1,2and 3

2. Why is 'Karle' world famous under
Satavahana architecture?
(a) For Vihara
(b) For Chaitya
(c) For Stupa
(d) For temple

3. What were the rivets (funni), flat celts,
shoolagra etc. prevalent in South India?
(a) Weapons made up of iron
(b) Tamil texts
(c) Prominent trading groups
(d) Title of the king

4. The largest canal built by Firoz Shah
Thuglaq was 200 km long.
Select the correct source —destination pair?
(a) From Satluj to Hansi
(b) From Yamuna to Etawah
(c) From Ganga to Hisar-Firoza
(d) From Brahmaputra to Bengal

Set A

5. Which Sultan of the Delhi Sultanate had said
that "Hindus processions singing, dancing
and playing drums to immerse the idols in
the Yamuna and I watch silently?"

(a) Jalaluddin Khilji

(b) Alauddin Khilji

(c) Mohammad-bin-Tughlaq
(d) Firoz Shah Tughlaq

6. Which book gives information about the
reign of Vijayanagara Empire?
(a) Mrichchakatikam
(b) Amuktmalayad
(c) Tolkappiyam
(d) Manimekalai

7. What was the 'Dharamsal’ established by
Guru Nanak, the founder of Sikhism?
(a) Rest house for travelers
(b) Religious restaurant

(c) Place for drinking water for animals and
birds

8. What is the literal meaning of the policy of
'Sulh-e-Kul' adopted by Akbar?
(a) The master of all is one.
(b) Policy of well-being for all.
(c) All religions are the same.
(d) Honour to all policy.
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1. Fofafea & @ F-ur g wd gafea g

fiftes o

1. forafies Sig o

2. gafues TG ! ey

3. rforymfuees i 1 9ue

= fT U e 1 TR R HEl IR AT
(a) FaeT 1 31K 2

(b) saa 1

(c) a2

(d)1,23R3

2. AT Tl AR oh Sciid 'shiet
forafery fas ufdrg @2
(a) forgr & fom
(b) = & ferg
(c) &u & faw
(d) #fex & feig

3. cf&mr vRa ® vafera s (we), 9uTe
T, QAT TS AT A?
(a) 7R o 5 gfIar
(b) affer wTeT o J
(¢) &I AR THg
(d) T <Rt IUTT

4. TRUST g Qe gRT SHaTs s 9ord ISt
AT 200 TRt el oft | I8 gl 9 gl doh
SIGIRCIE
(a) TS 9 frrehereht giel deh
(b) THAT ¥ FHeheTeRt SeTET a&

(c) T I fAeherert fearR-ftRiet aes

(d) ST | FTheTas AT ek

Set A

5. fecet Seaa o fore o A et o1 i “fég

SR it 1 THAT | oSt & o forg
A=, @l SSiTd g4, S[erd| | 2mgt 7gd
& R % I ¥ ToRd ¢ iR # gu=mg
AT g AT €2

(a) ST feersit

(b) SFATSE Reetsit

(¢) AlgHe-for-giereh

(d) frisTaTg et

. oSETR 9t % AT ohl SRR

forg gTes @ ferdt 82
(a) GBHiCHA

(b) FaHIY

(c) AieehTaftas

(d) AivHwE

. & gv % " T A g wfud

"THETET T TR

(a) T % foTT 3TRW T

(b) anfifer SiSHTTT

(c) ux] ue uferEt o forg arit o o1 ==
(d) SuTET Ty UTfHeh st 1 @

. 3TeR GRT 3TUATS TS "gAg-U-Fhel' i =il 1

Tfeen 37% SR Bl @2
(2) ESThT Hfeleh Teh ¢ |
(b) HeTeh feTq Herwet sht =fife |
(c) HelehT 41 TH-9T1 ¢ |
(d) Td 9w Ry ifer |
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9. Which is the correct chronological order of

the Nawabs of Bengal?

(a) Murshidquli Khan - Shujauddin -
Sarfaraz Khan - Alivardi Khan

(b) Shujauddin - Sarfaraz Khan - Alivardi
Khan - Murshidkuli Khan

(c) Sarfaraz Khan - Alivardi Khan -
Murshidkuli Khan - Shujauddin

(d) Alivardi Khan — Murshidquli Khan -
Shujauddin - Sarfaraz Khan

10.Which statement is incorrect about the

Dutch East India Company?

(a) The Dutch East India Company was
established in 1604 AD.

(b) The Dutch Parliament by a charter gave
the Company the right to make wars and
treaties and to build forts.

(¢) The commercial interest of the Dutch
was not in India but in the spice
producing regions of Indonesia.

(d) Sri Lanka was conquered by the Dutch
East India Company in 1658 AD.

11. The people of the Khasi tribe revolted
against the British rule. Who was the leader
of this rebellion?

(a) Sitaram Raju

(b) Siddho and Kanhu
(c) Rani Gaidinliu

(d) Tirath Singh

Set A

12. Which of the following statements is true

13.

regarding nationalism?

(a) Modern Indian nationalism emerged
basically as a response to the challenge
of foreign hegemony.

(b) The circumstances of the British rule
helped in the development of national
feeling in the Indian public.

(c) It was the British rule and its direct and
indirect consequences that created the
material, moral and intellectual
conditions for the growth of the
national movement in India.

With reference to the Khilafat movement,

consider the following statements

1. The Ali brothers (Muhammad Ali and
Shaukat Ali) and others started the
Khilafat Movement in protest against the
treatment meted out to Turkey after the
end of World War 1.

2. Later this movement became a part of
the nationalist movement.

3. This movement did not get the support
of Congress leaders.

Which of the above statement(s) is/are

true?

(a)land2

(b)2and 3

(c)1and 3
(d) All of these
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9. ST o TSIl ST UE! HICTohH hI-TT §?
e i .
ERicEicl
(b) YSTSEI — TIHIST @l — STeiiad) @f -
aeffecpelt @t
(c) THTS @i - Seftad] @i - GiRigmet @f -
NEISEE]
(d) arefierf @t - qi¥iagel! @i - YomSEH -

TS @t

10. S 3% Sfear shu-t & forea & -4 e
AT 2?
(a) o g% AT HUH! h WU 1604 8. F

gl
(b) T UHE A Teh AT o6 GRT HU-T &l TG,

TS GiS e T fohel ST o 3TfRIhR
o9
(c) =1 <At ATITRE BT WRA | g, e
SR % HHTAT 3G &=l | o |
(d) 1658 3. H 9 5% Sfear syt 7 sfiererr
&t farfSra fora e

11. T STt & a1 fsifewr s & foeg
fordie fora | 39 fagie o1 AaT i oT?
(a) HIARM TS
(b) FgY 3R &g
(c) T Afeg
(d) Ry g

Set A

12. F9 & @ HH-T1 o TPaTR & 999 § 9

2?

(a) 3MYFTH TR TFATE FATS TR T
foreelt anfirae it gt & o 3 €9 |
3fee ga |

(b) frfesr wram Y afiferfeal 3 wrda
SAAE H AR A1 1 forenfid s §
AT & |

(c) forfewr e e Sueh ueaey 3k ae
gt 7 g TR | TP stide %
forenrar o forw aiifaes, Afes wa Sifgen
gikfRrfaat dar it off |

(d) Suger @t

13. faetRa Sticier o Ui # fm el )

o FifSw

1. TH frag, <t SIS o TITd ohl o A1d
BT R o forier # steft s (Ygwig
37eft 37 TMehd 37efY) 3R 311 &R &l =
fereTTRa STiaer st 3R forar |

2. 3T T Ig ST AP T 1
Teh 3T & 41

3. S NS &l ShidrE Aaral 1 gud gt
e

SUGeT § ¥ DHI-HT/A A T /22

(@)13R2

(b) 2 31X 3

(c)13iR3

(d) 3 Tt
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14. With reference to the trade that took place
under the Harappan civilization, consider
the following statements
1. Both foreign and internal trade took
place here.

2. Metal seals were used for trade.

3. The trade here was based on barter
system.

Which of the above statement(s) is/are

true?

(a)1and 2

(b)1,2and 3

(c)land 3

(d) 3 only

15. Which of the following statements
regarding agriculture in later Vedic period
is not true?

(a) Plough made of black ore started in
practice.

(b) In 'Shatpath' Brahmin, there is a
description regarding the plough.

(c) Dark metal was related to copper.
(d) During this period the function of

Sangrihit was to collect agricultural tax.

16. Exercise ‘Bold Kurukshetra’ was concluded

recently between India and which country

(a) Singapore
(b) United States of America

(c) France
(d) Britain

Set A

17. Who has/have been selected as Brand
Ambassador for IBA female world Boxing
championship ,which began recently in New
Delhi ?

1. Farhan Akhtar 2. Saina Nehwal
3. MCMaryKom 4. Akshaykumar
Choose the correct code from given below
(a)1and 2

(b)2and 3

(c)land3
(d)2 and 4

18. Recently ‘World consumer rights day’ was
celebrated on 15 march ,what was the theme
of 2023 ?

(a) Fair digital finance

(¢) Trusted Smart Products
(d) Making Digital Marketplaces Fairer

19. Which film won ‘Best documentary short
film at Oscar 2023?
(a) Writing with fire
(b) Summer of soul

(c) My octopus teacher

20.Recently Volcanic eruption took place at
‘Mount Merapi’,in which country it is
located?
(a) Indonesia
(b) Malaysia
(c) Borneo
(d)New Zealand
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14. TS W1 o 3ITid gi- Il SATIR o Yo
# frmforfed wal ) R fifSe
1. Tgt farcRlt qem otiafies Sl AR gid & |
2. TR 3 T 4rq ht Hedl o1 T-RT gid T |
3. TR 1 AR - farf-wa oreft
SRS AT |
ST | ¥ I-H1/Q T T /8
(a) 13K 2
(b) 1,2 3R 3
(0)138iR3
(d) eperet 3

15. STRATLH et & FiY  GAfSd =l & -
1 g T 2
(a) TATH STH ¥ o el ohl Terer TR g3l |
(b) 'IIqU’ STEYT H gt o 9oiel § aui= fietar
g
(¢) YT 3T T &I lel § 2T |
(d) 39 TeT § FRI 1 1 W X TRl

AT T |

16. 37T 'Siee FEA' BTl & | WRd IR form
31 % o= Yo gam
(a) fTgR
(b) FgT T STARHT
(c) Wi
(d) frem

Set A

17. T & # 71 feeht # Y& g3 IBA Afgen oy
HeFhaITSt SfUERIT & g s Tadet & &9
B ford T T /2
1. TREM 3T&R 2. 9T Agara
3.THH AR HA 4. 7T FAR
2 g 10 e § F W e v wE A
(a) 137K 2
(b)2 3R 3
(e)13R3
(d) 2 3R 4

18. BT &1 | 15 AT oh! 'forsg Suiemr 1faepr
oo T=Tan T, 2023 S ot o oft ?
(a) 3 fefSea fom
(b) =y St o Tfet & SUHTRITAT ! FerFT

EEIELE
(c) fagaa e 3arg
(d) fefSieet Arehewd i Sgar =T

19. fordl foheH 7 '31T%eRt 2023 H WaHg oites
g fther' Sfiare
(a) WefeT fag wRR
(b) =R 3T Hiet
(c) AT AT SR
(d) & wefithe fogmme

20. 3761 & # "5 ged’ § SeregE okl g
2, 7 fr 2w fem 2
(a) FEmfEn
(b) FeifRrET
(c) sufa
(d) =sficis
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21. Who has been selected for ‘Vyas Samman’
2022
(a) Madhav hada
(b) Madhu Kankariya

(c) Dr. Gyan Chaturvedi
(d)Siddharth Mohanty

22.Recently Prime minister inaugurated
'longest railway platform in the world’ in
which state?
(a) Maharashtra
(c¢) Tamil nadu

(b) Karnataka
(d) Uttar Pradesh

23.Who became the first Asian American to be
featured on ‘US currency’?
(a) Aruna miller
(b) Anwar Ibrahim
(c¢) Daniel Dae kim

24.Who was elected as the chairperson of
‘Athletes commission’ of Indian Olympic
Association?
(a) Mary Kom
(b) Achanta Sharath kamal
(c) Saurav Ghosal
(d) Abhinav Bindra

25.Who assumed the charge as the new
chairperson of the 22nd Law commission of
India?
(a) Justice Ritu Raj Awasthi
(b)Justice Balbir Singh Chauhan
(c) Justice A.P Shah
(d)]Justice P.V Reddi

Set A

26.Who has been honoured with Gandhi
Mandela Award 2022 ?
(a) Dr. Bhushan Kumar
(b)Dalai Lama
(c) Dr. Morissanda Kouyaté
(d) Thich Nhat Hanh

27. Which team clinched the ICC Men’s T20
world cup 2022 ?
(a) Australia
(b) India
(¢) New zeland

28.Recently ‘Kirit Parikh committee’ was
constituted to review the
(a) Crude oil price
(b) Steel price
(c) Gas Price
(d) Millet Price

29.The Global Tiger Summit 2022 was hosted
by which state ?
(a) Karnataka
(b) Tamil Nadu
(c) Uttar Pradesh
(d)Rajasthan

30.UNESCO celebrates ‘International day for
the conservation of the mangrove
ecosystem’ on which date?
(a)July 26
(b)June 26
(c) August 26
(d) September 26
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21. =T G 2022 F o SR g g 2
(a) ATYS TSI
(b) A shiehAT
() . T =gt
(d) fergrel =gt

22. 316 &1 ° 99T + fore T | g e
oY T 00 TIChiH' T 3gTe fordT?
(a) HERTY

(b) Ffeh
(c) afferTg

(d) I ue=

23. 'SR TeT W Teiid g arel Ugel TR
AR T e
(a) 3r&oT fUer
(b) ST SslTfgH
(c) e 2 form
(d) AT

24. TR 3NeifUes 9 & "TACAIe AT o
Y & U H fopdl A1 AT AT?

(b) =T IRY HHA
(¢) URa MuTeA
(d) =1f9=a forgr

25. RA o 223 fafer 1T & U a1eaey o €9 o
foram g ggur feRaT?
(a) =mamfd Rg et seeit
(b) =mEfd FereR g e™
(c) =T Tt oME
(d) =g e S

Set A

26. i TSAT GTERR 2022 ¥ ford wwf-a ferar
TR
(a) ST U1 FHR
(b) ZeS T
(c) Sf AiftEreT e
(d) for=r e &M

27. e &\ 9 ICC go9 T20 fasg &9 2022
StaT?
(a) Sifecferan
(b) ¥
(c) Ffrets
(d) Fte

28. 31 gl § gHie & forw 'forde wife afafa =
T3+ forat T
(a) =3 A <Al hAd
(b) Wit ht shiFd
(c) T Rt hrma

(d) ST qed

29. 7SIl S8R 9ffe 2022 &t ASat fohd TT
BRI
(a) Flceh
(b) aferTg
(c) ST uew
(d) TSr=I=

30. JA%R! BT TRIRIfehT T 3 GR&T0T % forg
IRIP fae’ fore aTiRa o1 w=Ta g2
(a) 26 FeE
(b) 26 57
() 26 3T
(d) 26 &R
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31. Which Indian State launched a common
credit portal ‘SAFAL’ for farmers?
(a) Maharashtra (b) Jharkhand

() Bihar (d) Odisha

32.Who was nominated for the Booker Prize
20227
(a) Yunqging Tang
(b) Shehan karunatilaka
(¢) Annie Ernaux
(d)Karim Benzema

33. Which one of the following statements is
not correct regarding the New Public
Management?

(a) The New Public Management has
emerged out of Thatcherism and
Reaganism.

(b) New Public Management is mainly based
on the principle of liberalization,
privatization and globalization.

(c) New Public Management involves

(d) It seeks to provide more services from

lesser revenues

34."Public administration is the art and science
of Management as applied to the affairs of
the state". This statement has been given
by?
(a) Dwight Waldo
(b) M.E. Dimock
(c) F.A. Nigro
(d)L.D. White

Set A

35. Which one of the following statements is
not correct regarding good governance?

(a) Good governance requires
accountability of the government
institutions along with the civil society
and the private sector.

(b) Good governance requires transparency
and responsiveness of public officials.

(d) Good governance requires a consensus

oriented approach for achieving
developmental goals.

36.Which one of the following is not
considered as a feature of a good citizen
charter?
(a) Simple language
(b) Centralisation
(c) Feedback mechanism
(d) Periodic review

37. According to the Global Multidimensional
Poverty Index 2022, the incident of poverty
in India in 2019-21 was around?

(a) 27%
(b)16%
(c) 26%
(d)21%
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31. forg v TS 7 foram & forg ue g
hfse diea 'SAFAL' = fepam?
(a) HERTY
(b) IRTIE
(c) foeR
(d) sife=m

32. TR IR 2022 o forq fordy Ammiferd fema
T T2
(a) e ar
(b) e TR
(c) T 3T
(d) =W sisT

33. 719 oIk HaEH % gy § fmfofea § @ &=

T 6= 9L el 82

(a) 79 ek Teru AeRATE 3R T=arg 9
I

(b)=Ta Tieh TT9 H&A €U § IGRIHT,
fArsfieRtoT 3R Sofieor & fagia W
MIRA B |

() T itk e § S TR o ekt 3R
hTET ST SHeRTOT STHe 1

(d) T Y ToTed I 31fSeh AaTd U ST
ATEAT |

34. "o TRITH TEE 1 el SiR o ¢ St
for o & A § AN glaT € | I8 U
ferran g fam w82
(a) §3E AT
(b)wH.g fente
(c) T.u o
(d)wer.dl. s

Set A

35. Fraferfaa & @ 9 91 Ho= e & o §

BHE RS

(a) GETEA o ol TXani TRITT & 91g-91d
ANTReR THTST 3R frsf &5 ot STereregt
N ST AN £ |

(b) e o foTT Arersif-en stfeepiiat &t
YRERIAT 3R STaTeIeg! shi STeIgehdT gial
21

(d) GRmEA o forg forenTaTeTer aedi ol ure
Y o folg Ty 3@ ef¥ehior i
SAETIHATBIAT € |

36. Fafefaa o 9 frd T 3= amiies Tee &t
forean & €9 | 7L 7 ST @
(a) 9LeT \rHT
(b) FgTewTT
(¢) ufaqfy sgeren
(d) straferes qHten

37. %o IgamaTH Tl FEwich 2022 %
SIER 2019-21 H 9YRA § T4l ATHT fohasit
ot
(a) 27%

(b)16%
(c) 26%
(d)21%

10
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38. Which one of the following types of
unemployment is mainly a feature of
rural areas?

(a) Structural unemployment
(b) Cyclical unemployment

(¢) Seasonal unemployment
(d) Technological unemployment

39.According to the 2011 census, the
minimum population density for the
census towns should be?
() 400 persons per km*
(b) 450 persons per km?
(c) 350 persons per km?
(d) 600 persons per km?.

40.According to the 2011 census, the state
with the highest urban population is?
(a) Tamilnadu
(b)Maharashtra
(c) West Bengal
(d) Uttar Pradesh

41. Which one of the following conventions
or protocols seek to protect biological
diversity from the potential risks posed
by genetically modified organisms
resulting from modern biotechnology?
(a) Basel Convention
(b) Bonn convention
(c¢) Montreal Protocol

Set A

11

42.Which one of the following statements
regarding the ecology and ecosystem is
not correct?

(a) The biotic and abiotic components of
an ecosystem are linked with the
food chain.

(b) Ecosystems can either be natural or
man made.

inverted.
(d) The pyramid of energy can never be

inverted.

43.Which one of the following statements is
not correct regarding disaster
management?

(a) The Prime minister is the ex-officio
chairman of the National Disaster
Management Authority.

(b) The Union home minister is the ex-
officio chairman of the National
Executive committee.

(c) The District Disaster Management
Authority is headed by the District
Collector.

44.Which one of the following rights is not
part of the International Covenant on
Civil and Political Rights 1966?
(a) Right to life
(b)Right to form and join trade unions
(¢) Freedom from torture
(d)Right to not be enslaved
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38. frfeifed # 9 ford TR &l SRS g $9 §
TTETOT ST hY Ueh ferea 2@
(a) TLEATHS ST
(b) TR SIS

(d) Teh=TtehT SIS

39. 2011 ! SETUMT o STER SFRTOET ARI o6 forg
<ATH SHERAT 9= gl AMfeq?
(a) 400 T wfet fope>
(b) 450 TR Uil foRi2
(¢) 350 &R Tfer forei2
(d) 600 T ufer ferei2

40.2011 ! STRTUHET & STTER Falfeeh TR
ST FTel U9 g7
(a) dfderTg
(b) #erg
(c) afgH sTTer
(d) ST e

41. frafefEaa ® @ & 91 g/ie a1 Metenid
MY ST WRNfTeh ¥ S A €09
Genfea el grRT Scae Gferd Sifemt & Siferss
farfereran &t Tam ST e 8
(a) ST HAUT
(b) & T
(¢) Hifeaet WicTehie
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42.fFafafEa & 9 i 91 wa aikfRafaedt 3R
TiRferfereht o & TeY § et 7gl 8?
(a) Toh qTRIRAfERT o= o Sifereh 37X 3rsiferss Tee
W e 9 S 8 € |
(b) urifRfcreht 7= AT At ATehfces a1 A HfHd
ARG |
(c) ST 1 foRTfeE ot Ieet et & Fehel

21
(d) Sstt oht TURIfAE it Seer el gl FehdT ¢ |

43. 3T9eT YeH & gore ¥ faferfaa § 9 s ar

T TG Tgl o?

(a) T TSI SATART T TTTRIOT 6T G
AAFEAE |

(b) 5 T[g Ht ALY Hrieh1Rof |iHfcr o ga
AT RS |

(c) fSTetT 3mUeT Tere WTfereRvor & 3reey fSrem
FAFL B g |

(d) 3T STfEH AT TR HeTE hHereh
2018 H STOTET T AT |

44.Frafafed # 9% a1 if9eR ArTRe 3R
STferen TfEIsh Rl TX SIS ST 1966 1
few 7@t &2
(a) Sfta =T 3MfEHR
(b) ¥= FFT SR IR SHH WA T BT

SfIRR
(c) AR & gfaa
(d) T | I o1 ATEHR
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45.Which one of the following is not the
part of Prime Minister’s Ten Point

Agenda on Disaster Risk Reduction?

(a) Women’s leadership and greater
involvement should be central to
disaster risk management

(b) Develop a network of universities to
work on disaster-related issues

(c) Utilize the opportunities provided by
social media and mobile technologies
for disaster risk reduction

46.Which one of the following is not part of
the third generation of human rights?
(a) The Right to Peace
(b) The Right to Development

(d)Right to a healthy environment

47.The headquarters of the International
Court of Justice is located at?

(b) New York, United States
(c) Geneva, Switzerland
(d) Paris, France

48.The most recent member to join the
North Atlantic Treaty Organization
(NATO)?
(a) Albania
(c) Montenegro

(b) Croatia
(d) North Macedonia
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49.Which one of the following articles of
the constitution provides that the
provisions related to municipalities shall
apply to the union territories with
certain modifications specified by the
president?
(a) Article 243 ZA
(b)Article 243 ZB
(c) Article 243 ZC
(d)Article 243 ZD

50. Which one of the following statements
regarding the Panchayats is not correct?
(a) It is the discretionary power of the

state legislature to provide
representation to the members of
Lok Sabha in the panchayats.

(b) Panchayats should be constituted at
village level, intermediate level, and
the district level.

(c) The state legislature by law can make
provisions for the maintenance and
audit of the accounts of Panchayats.

51. The provision of the appointment of
state governors by the Centre in the
constitution has been borrowed from?
(a) Canadian constitution
(b) Australian constitution
(¢) US constitution
(d) South African constitution
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45. Ffefaa & 9 9 91 3uer SHREH JJeRor )

T o &8 G TsieT ol i 781 82

(a) AfgeT g 3R 21fder urfiert smuer Sifew
TG & ohg | g1 TTey

(b) 3T & HATSd HEl I HIH HL o folg
farsaferemerat o1 e Aead ol e

(¢) 3TTIET SIEH | Al o forT |rwrer Hifear 3
HreTger Mrefiferat gRT wer fohy T SreeRi
T SUFRT AT

(d) R H FHT SIS HSTEH FATE BT gy THR
G hgiepd g

46.FrafefEd 8 @ s A ifSeR! @ e didt
a1 T 7 o
(a) Tifl oAt TfhR
(b) farerT oAt 2fER R
(c) wTerTaft 3R st o forg ferry e eik

TR ol SAfRR
(d) @ qgTaRuT 1 3Tf9ehR

47. ST AT Sl HEATAT gl [ g7
(a) &, Hrexets
(b) =aTeh, TR T ST
(c) fSman, fesRete
(d)ufE, wig

48. 3T 3Teaifes Gf red (NATO) ¥ Snfda gi=
ATCAT T TeT ohl TS 27
(a) redTt~=T
(b) gt
(c) "t
(d) IR FGSHran

Set A

49.9faer & fafefad # 9 oF 91 =t ugH

T ¢ foF TRaTfersmatl @ afea wraeT agufa
TR Fiéy o Geiest & a1 g wnfera wewil W
A B2

(a) 3T 243 ZA

(b) 3T=T 243 ZB.

(c) 3TT=T 243 ZC

(d) 3TT=% 243 ZD

50. U=l o oy # faferea & 9 & v s

BEE RS

(a) Ul H ShE@NT o GGl ohl Ul (-ea
ST i1 ST faaySe i faaenrei
wfera e

(b) UM &R, HeAad! &R 3R e &R R g=mdt
T e+ fehdT ST 91fe U |

() 77 fareTfieht == g1 Y=l o @rdl o
TEETE 3R AaT g0 e o folq urearers &
el g |

(d) Yfrer G o6 SifereRR e @ foh & et
EATRR o ¥ieR 310 fordeh | i ot
ARG |

51. FIAE H o, gRT TS oh TeTuTal ehl =T ol
U shal 9 fordm T 2
(a) HTST <RI Ge=T
(c) smfeht gfaam
(d) Zf&ror 3TvhienT ST TfgeT
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52.'Santhali' was added in the eighth
schedule of the constitution by which
one of the following constitutional
amendments?
(a) 71st amendment
(b) 88th amendment

(d)96th amendment

53. Which one of the following is a
Gandhian directive principle?
(a) To make provision for just and
humane conditions of work

(b) To promote the educational and
eeconomic interests of SCs, STs, and
other weaker sections

(c) To promote equal justice and to
provide free legal aid to the poor

(d) To secure the right to adequate
means of livelihood for all citizens

54.Which one of the following articles of
the constitution declares the Supreme
court to be the court of record?
(a) Article 126
(b) Article 127
(c) Article 129
(d)Article 132

55.Suppose the distance between the sun
and the earth will be doubled ; the
gravitational force between them will be-
(a) Double of the present force
(b) Four times of the present force
(c) Half of the present force

Set A

15

56.The Sun can be seen a few minutes
before it actual sunrise because of:
(a) Total internal reflection of light
(b) Scattering of light

(c) Refraction of Light
(d) Diffraction of Light

57. Which one of the following is smallest
unit of length:
(a) Micron
(b) Nanometer
(c) Angstrom
(d)Fermi meter

58. Which among the following is the
purest form of water:
(a) Rain water
(b) Tap water
(c) Sea water
(d) Distilled water

59. Name the inventor who invented
vulcanized rubber that is made by
mixing latex with sulfur and then
heated:

(a) Charles Goodyear

(b) Charles Perkins

(c) Dunlop smith

(d)Jhuggilal Kamalpat Singhania.

60.Which one of the following is a polymer:

(a) Vinyl chloride
(b)Urea

(c) Starch
(d) Styrene
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52.'gerel s fraferfea # @ fora gaunfre gene=
ST GfaT i 3TTeel SIqgE! H SAIST T T A1
(a) 7187 T=OET
(b) 88aTt TemeA

(d) 96at T=Ne=

53. FofeifeEa & @ #i9 o e e g 22
(a) T <hi 3fEa 3R AE T Rt & forg
T T |

ST ST |
() THT =T T STAT AT 3R TSI bl Tod

Ohl"lc\"lhl He Al Ul T |
(d) Tt it o forg ersitferenT o aie Tl
o STfSeRR ol Y& T |

54. Gfe w1 fFafefed & @ o6 91 o= gate
T o e =TT ST il g7
(a) 3T 126
(b) 3rT=e 127
(c) BT 129
(d) 3Tg=e 132

5. Tt oo el fer 1 g0 St g e
S TEETHY T S G-
(a)a?f:rma?fr‘oﬁrzﬁgm
(b) STHT ST T IR AT
(c) STHTT ST T 3T

Set A

56. % ohl AT AIed | H© fH-e ugel g <@
T FehelT ¢ S oh:
(a) WIRT o1 JUT TR URTEH
(b) TeRTRT ST WehIuT

() WeRTET T 37T
(d) wehTeT % forad=

57. fFafafead o @ &H oeE i 9o S 3HE B
(a) HTZHI
(b) s=fiex
(c) Tre|
(d) wHt e

58. FHfeifad & I HIF-91 5T o Ygaa $9 @ :
(a) & St
(b) =Tt &1 UT=T
(c) |HS AT IT=T
(d) 3gd ST

59. 39 3MTfarsshieh ohl ATH IdTSU ST aeeh{-id o
T SRR fohaT &1 ST Q&R okl 7=k o 919
foetrent 3R foRt T o s ST @

(a) =ed e

(b) =red ufdha

(c) e I

(d) Seitettet shderad fEenf==r |

60. Frafefed & 9 =i 91 agee ¢:
(a) fomTTset SFilTSE
(b) Ffeam
(c) @
(d) Ted=
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61. Consider the following statement about
the class Aves:

1. They are warm blooded animal

2. Respiration occurs through lungs
and air sacs connected to the lungs
for supplement respiration.

3. They are oviparous with separate
sexes, internal fertilization and direct
development.

Which of the above statement is/are

correct :

(a)1and 2 only

(b)2 and 3 only

(c)1and 3 only

(d) All the above

62.Pungency in red chillies is due to the
presence of:
(a) Resin

(b) Carotene
(d) Arilocin

63. Which one of the following minerals
regulates the acid-base balance of the
body:

(a) Sodium

(c) Calcium

(b) Iron
(d) Potassium

64.Consider the following statements:
1. Bluetooth operates on 2.45 GHz
frequency band for transmission.
2. Bluetooth uses frequency hopping
spread spectrum.
Which of the above statements is true:
(b) 2 only
(d) None of the above

(a)1 only
(c)1and 2 both
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65.1 MB is equal to:
(a) 1024 kilobytes
(b)2'° bytes
(c) 1024 kilobits
(d)1000 kilobytes

66.Which of the following is an example of

Phishing scam:

(a) Hacking into a computer and leaving
false trails on who did it

(b) Installing a virus into system and
asking to pay for its removal

(c) An application that appears useful
but contains spyware to slow down
the system

67. Deficiency of molybdenum causes:
(a) Poor development of vasculature
(b) Bending of leaf tip

(c) Mottling and necrosis of leaves
(d) None of the above

68.Central Sericulture Research and
Training Institute is situated at:
(a) Mysore
(b) Guwahati
(c) Bhagalpur
(d) Banaras
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61. Tag @t & aR # fFufefed =l w fomm &

1. 3 fraaardt oy € |

2. 9 BHES! A GaT §, 3R Ik FHT Oy et
FATIA QAT |

3. 3 3T 37er foit, 3tiafier fAsem iR vy
forepTa o |1 3SR § |

SUIeRT | | hi 91/9 Y gl /e

(a) el 1 37 2

(b) et 2 3R 3

(c) Sherel 1 3R 3

e A | e feraeht SufRufa o shor gian
2
(a) "
(b)
(c) FwETRET
(d) Tienfam

62.

frafafaa 8§ @ &F 91 @ TR % 3na-gr
e ol R s e:

(a) Hifeaw

(b) A=

(c) hieray

(d) drefermT

63.

64. fraferfea wuHl w) fo=r Hifsm:

1. THAfEe % foru et 2.45 GHz Hhisddt sis
X S T e |

2. Y ThIFAHT BT TS TergH ol STANT
FATE |

SR H W I 91 | T ¢

(a) FaT 1

(b) e 2

(¢) 18R 2 gt

(d) SugerT H ¥ Ig Gl
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65.1 MB sXTsR g:
(a) 1024 fefetrTEe
(b) 2'° sTI8TH
(c) 1024 feretiaTse
(d) 1000 feretaTse

66. frafeRed & 9 i @1 iR SieTe 1 SR

e

(a) Tk HEX H 8o Y goFehell oh SR TTerd (=TT
BT

(b) fEr&en # Teh I RAfUd 3T 3R 34
BeT o feTT YT oA o felq sk

(c) Teh STEE S SUFNN Uil gidT & e
foren =i i e & forg wgaer gran g

67. MieeeTT il FHH & BT & -
(a) STfgenTdo ol BT farerTd

(b) Uit sl A1k AT TSIT

(c) uftr &1 gegR SR aferers
(d) SuderT | 9 Hig g1

68. T IH IATEH THET Tl TT&Ior G
ferg:
() B
(b) TRt
(c) ANTETRR
(d) RE
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69.The edible part of cauliflower is:
(a) Developed Bud
(b) Swollen stem
(c) Ripe Fruit
(d) Unripe inflorescence

70. Dumer Sumer pond is located in which
of the following district:
(a) Lohardaga
(b) Chatra
(c) Hazaribagh
(d) Latehar

71. Which of the following district has been

formed after the formation of Jharkhand:

1. Latehar
2. Jamtara
3. Chatra

4. Saraikela kharsawan

Choose your answer with the help of
codes given below:

(a) 1&2 only

(b)2,3 & 4 only

(¢)1,2 & 4 only
(d) All the above

72. Which among the following is biggest
railway station in Jharkhand:
(a) Ranchi
(b)Jamshedpur

(c) Dhanbad
(d) Bokaro
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73. Who was the leader of revolutionaries in
the Singhbhum area during the revolt of
1857:

(a) Arjun Singh

(b) Man singh

(c) Anand Singh

(d) Chakradhar singh

74.The famous Hizla mela of Dumka was
started by:
(a) Captain Hannyington
(b) Commissioner K.V.S. Raman

(c) John R. Casteres
(d) Captain Wilkinson

75. Which of the following was the first
Nagpuri language movie of Jharkhand:
(a) Sajna Anari
(b) Sona kar Nagpur
(c) Shadi kara de
(d) Phulmania

76.Who has invented ‘Varang Chiti’ script
for Ho language:
(a)Dr. Durga Purti
(b) Kamal Lochan Kora
(c) Pandit Shivcharan Birua

77. Which among the following has been the
captain of Indian women hockey team:
(a) Aparna Mishra
(b) Sumrai Tete

(c) Asunta Lakra
(d)Nikki Pradhan
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69.

70.

71.

72.

FerTeft ST @ A AT
(a) forenfa vt

(b) ST g A

(TT) 9ok HeA

(d) srafRues qesT

SH g arere fAafeifed | @ forw o # fra
&

(a) weem

(b) =Rt

OkSIER

() TR

SIRES o T3 o a8 fafeied § & &= 1
ISGIECIES

1. TIdgR

2. STHATET

3. 9d

4. TR EEET

= fT Tq et sl FgrEIdT § 79T I IH:
(a) heret 1 3R 2

(b) seret 2,3 31K 4

(c) a1 1,2 3R 4

(d) SwRier qft

fufered # @ &9 91 STRES &1 Gord &g
RIS

(a) Tl

(b) SHIATR

(¢) TR
(d) SR
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73. 1857 & forgie & awa fgum &= o wifaertiat
ST Al ohI< 9T
(a) 3 fie
(b) #r f&e
(c) e g
(d) =eheR ¥

74. GHRT hl UTHg, festen Aetr fortrer gRT ARy foran
RIIRVI K
(a) e e
(b) 3TRIeRT k.o TH. T

(d) e fafeswr—a=

75. Fafefea & ¥ ®F @ smeae i uget AT
TS bl fthew o
(a) 9T 3 AT
(b) |IFI %R AR
(c) AT
(d) BerRfET

Bl e ok forg e f=fer ferfa =t enfarseR
foram fema:

(a) e g gfd

(b) =¥ A I

(c) ufea FRa=ror fazan

(d) % TRt e

fraferfea # @ S YR qfgen gl a6
AN RCIRS

(a) 3rqurt fasm

(b) gERrg e

(c) 3T SRt
(d) FrrRRY wrem

76.

77.
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78. Phuldungri hillock in Jharkhand is
located in which of the following city :
(a) Ghatsila
(b)Jamshedpur
(c) Gumia
(d)Jhumri Telaiya

79.For how many times Shibu Soren served
as Chief Minister of Jharkhand:
(a)1 (b) 2
©3 (d)4

80.Which of the following states has the
highest growth in Gross State Domestic
Product in Financial Year 2021-227
(a) Andhra Pradesh
(b)Rajasthan
(c) Bihar
(d) Telangana

81. The world summit on sustainable
development was held in-
(a) Stockholm, 1972
(b)Rio de Janeiro, 1992
(c) Johannesburg, 2002
(d)Kyoto, 1997

82.How many targets are included in 2030
agenda for sustainable development
adopted by the United Nations General
Assembly in 2015?

(a) 159
(b)169
(c)172
(d)189
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83.1In 2016, which one of the following
committees was set up by the
Government of India to review the Fiscal
Responsibility and Budget Management
Act 20037
(a) Nand Kishore singh committee
(b) Urjit Patel committe
(c) Ashok Dalwai committee
(d) Bibek Debroy committee

84.The concept of effective revenue deficit
was suggested by which of the following

committees?

expenditure
(b)Arvind Mayaram Committee.

(c) H.R. Khan committee
(d) Arvind Subramanian committee

85. Which one of the following is not a
function of Reserve Bank of India?
(a) Credit control
(b) Credit creation
(c) Regulation of currency
(d)Credit ceiling

86.Which one of the following is not an
indicator of globalization process in
India?
(a) Convertibility of Indian rupee
(b) Increase in equity limit of foreign
investment
(c) Long term trade policy
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78.

79.

80.

81.

82.

Set A

RS H FergTl ugret frafafea § @ fora
TR HfRae:

(a) wTefrem

(b) THRIT

(c) TfFar

(d) et et

R AR fohat aIR SRS o qEave |
(a)1
(b) 2
©3
(d) 4

feritar & 2021-22 # faferfea & 9 forg =T
% el ST ¥R 3cTE H Had 31ferens g g3
e

(a) 391 =

(b) TSI

(c) forem

(d) derTET

g forer R sy fRorer Ies wet
SrfSra feram T -

(a) =g, 1972

(b) e €t sfan, 1992

(c) STgr=er, 2002
(d) =41, 1997

TR Y WG GRT 2015 H 371 1Y
gad faerra & fow 2030 & TSI # fohaq g
A g

(a) 159

(b) 169

(c)172

(d) 189

83. 2016 H, TSThNIT IR 3R FSTE Tee=
srfefa=m 2003 st HET & fol R TR gRT
frafafaa & @ =m O afafy nfeq & e ot
(a) T foreme fofg wiAfa
(b) 3t uea wfufa
(c) 3Tk SeTars |t
(d) foreres <erfa wfafa

84. TS TSI |1e oht rauron fFufeifea # @
fore wfafcr g gets TS ot
() HreSii+eh =g W TR wiEfa
(b) Rfeg ArERM™ TiHfd |
(c) THRR @ Ffufd
(d) 3Rferg germoga wfafa

85. fafeifed & | i 91 WRda sie s o1 vt
& 22
(a) shfee e
(b) shfge famion
(c) a1 oAl fafaam =
(d) shfee AT

86. Fraferea # @ @i a1 wra & Safienor &t ufshan
T Yehcleh gl o7
(a) R 9 At IRaEd-aar
(b) fereett farer i gfFaet @aT o gfyg
(¢) SRt IR ifer
(d) Froft Suffat =t TReht SEHT 6 TR
fershr 1
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87.The Prevention of Money Laundering
Act came into force in India during:-
(a) 1997
(b)2001

(c) 2005
(d)2009

88. Which one of the following is Non- debt
capital receipts of Indian government?
(a) Treasury bills
(b) Small savings
(c) Cash management bills

89.The Foreign Exchange Reserve of India
consists of
1. Foreign Currency Assets
2. Gold stock of RBI
3. Special Drawing Rights
4. Reserve Tranche
Select the correct answer using the codes
given below.
(a) Only 1 and 2
(b)Only 3 and 4
(c)Only 1,3 and 4

90.Among the following regions of India,
which one receives comparatively least
amount of annual rainfall?
(a) Rain shadow area of Western Ghat
(b) Western slope of Western Ghat
(c) Southern slope of Shiwalik hills
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91. In which one of the following the
Himalayan pass Shipki La is located?
(a) Hunza valley
(b) Chandra valley

(c) Sutlej valley
(d) Nubra valley

92.The Shiwalik ranges are separated from
the Lesser Himalya by which of the
following faults?
(a) Main Central Thrust
(b)Main Boundary Fault
(c) Great Boundary Fault
(d) Himalayan Frontal Fault

93.Which one of the following pairs is not

correctly matched?

Food Grains Leading State

(a) Rice - West Bengal
(b)Maize -  Madhya Pradesh
(¢) Gram - Maharashtra
(d)Wheat - Uttar Pradesh

94.The power plant of Manikaran based on
geothermal energy is situated in the
bank of which of the following river?
(@) Parvati rivi@r
(b) Beas river
(c) Sutlej river
(d)Ravi river

95.Which one of the following species has
the largest areal coverage in India?
(a) Pine
(b) Deodar

() Sal
(d) Teak


CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight


87. =1 ee= fHaror aifafaaw wrRd o e gore
gall-

(a) 1997

(b) 2001

(c) 2005
(d) 2009

88. frraferfad # @ @ A1 YR R Sl TR-3607
it ofeerat g2
(a) TSI fore
(b) Bt s=d
(¢) g gora foret

89.TRa o fereft T 7er H wnffet §
1. foraeft Ha1 wufat
2. RS T Tiee Lieh
3. foiy mgeor sifgsr
4. Rfea fored
= f3T TQ e 1 T Y HEl IR IHY |
(a) haer 1 3R 2
(b) Fae 3 3R 4
(c) e 1,3 3R 4
(d)1,2,33R 4

WRa & fraferfad &= # § s a1 8 o
9 W o9 HH A1 oo UTG bl 87

(a) Tfertt =Te o1 aut SwET &

(b) afeH re w1 ufHt e

(c) Rrenferer ggTieat o feroft g

(d) eTier 3R T =t

90.

Set A
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91. frafafaa # @ forg Tes & feaTerdt 17 fRraeht o
ferag?
(a) g =Tt
(b) =Ig et

(c) TerersT |t
(d) o =t

92. fw # | fore i1 & Rranferes geiawTen g
e 9 s gt /2
(a) 991 O<d U
(b) A TS e
(¢) U< ATSE! Hice
(d) feHTeTaq thed Hhice

93. fFuferfed & & i a1 g7 gt gafea 7gf g2
R 3ot T
(a) 9@ fg® STt
(b) HerRT T TR
(c) =T HERTY
(d) g IR I

94. VATHIT STl UX TR AIOTeRR0T okl fergal T
fmforiaa & @ form 7 & e R R @2
(@) vt 7t
(b) = <t
(c) et Tt
(d) Treft =t

95. faferRaa & 9 ford =TIl o1 vRA H &9%a
o 2feres §?
(a) e
(b) <FER
(c) |ret
(d) gri=
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96.Among the following places, which one
is best suited place for the location of
Cement Industry?
(a) Durgapur
(b) Silliguri
(c¢) Pune

97.The Eastern Syntaxial bend of the
Himalaya is situated near in which of the
following Range?
(a) Dafla
(b)Namcha Barwa
(c) Abor
(d) Miri

98.How many India states share border
with Bhutan?
(a)3
(c)2

(b)4
(d)5

99.The lowest point of India, lying at an
elevation of 2.2 m below the sea level is
situated in which of the following states?
(a) Tamil Nadu
(b) Goa
(c) Kerala
(d) Gujarat

100. In which state/U.T India’s first e-waste
eco park has been established?
(@) Delhi
(b)Haryana
(c) Chandigarh
(d) Tamil Nadu

Set A

25

96. Fraferfea wei # @ w9 @ diie = 6t
srafefa & fory Tod SugeR = @?
(a) TR
(b) farefiget
(c) gt
(d) TrSTHel

97. fedTer™ o1 gt stererdta A Fafofeaa # @ forg
Joft & urg fRId 22
(a) Shetl
(b) =TT SRaT
(c) &R
(d) &

98. R o fohc ST T & AT HHT AT
&
(a)3
(b) 4
(c)2
(d)5

99. THG T | 2.2 Hie 3l s W & WRa &1
o frrerer fog fFaferfea 7 9 fora T & f@ra
@
(a) dfAeTg
(b) Tar
(o) &

(d) et

100.fora Trsa/shg T wRer § YR b1 Ugell 5-
TRy St reh T fohar T g?
(a) feeft
(b) gfamm
(c) wrETg
(d) afferg
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Instructions:for filling/marking the OMR answer sheet / OMR TR~ ﬂﬁ % forg fdar )

1. Fillup all the particulars in the answer sheet carefully. Request for change of OMR answer sheet will
. not be entertained.
o & it froor wewEigEs Wt | omw—mm%a@umﬁwaﬁﬁmm |

2. For filling the OMR Answer sheet and darkening the circle use only BLUE BALL POINT PEN.
OMR F-93% TF Tiven 1 W % forg e e wer ¥ swwmer =6t |

3. Answer sheet will be processed by electroxi_icdevice. Invalidation of answer sheet due to incomplete/
incorrect filling of relevant circle of Roll No. and Booklet Series in the -answer sheet shall result
‘in cancellation of candidature. Any deficiency,jn filling up OMR will be the sole responsibility of the
candidate. Please do not write or mark 6H°this answer shect outside; 15# ‘demarcated areas. It will
invalidate your answer sheet.
m—mlﬁsﬁ@ﬁ*mémﬁmm | 3ot aregan e T § T AR. IW-F F w0
Bhet i S : g | 3. o, e i faeh o
gfﬁsﬁmmﬁ Forsdtaw & |mm—mwaﬁam%mﬁm?qﬁﬁmaﬂt—m
= m e anzln |

4. An example is given below how to fill / mark (darken) Roll No. 41311706 and Question-Booklet

* Series-B. Accordingly you have to fill/mark (darken) the Roil No. and'ﬁuesnon Booklet Series given
to you in yonr OMR unswer sheet.

A 41311906 T TR A0h o Y /e 7 Y Ry G & | 7R R & S o

mﬁgﬁ'ﬂ%ﬂaﬁOMRm—mﬁmf&mmh

=
S
=
&

5%

°°°@9@,®9?5w
000000020 I
eeoea@o'eam“
C00O0D0B®O =
'oceopqo%%

5. Please do not overwrite or erase circles because it will be treated as multiple/wrong answer for which
~ no mark will be allotted.
F A B R 91 QAT WA T T | T T A e /e wwmm@mmm

¥ fora wi oiw T fom smom |

P-I | ' o Series-A






